Paper / Subject Code: 71804 / Business Ethics &\.Corpornte'S-oclnl Rcs‘bonslbllllf \
Time 2 Hours &/ 2 Total Mirks: 60

N.B. 1) All Questions are compulsory. s, @ b

2) Figures to the right indicate mn mnrks“ ' & e

'q ) oM ~ -~

Q.1 Answer the following: (Any :I\vo) ' e ~X(15) oo
a) Explain the characteristics. of Busme_’ss Ethics. \ Y I o
b) What is an Ethics? Dcscnbc Utetr sources. r\\“ N Sl 7
l‘ﬂ OR I\.‘:A:\ .\'.— ) __.A - (
c) Explain any four approaches to ‘Busmess Ethics. <% <

d) Describe the emergence of new values in Indian’ mdustnes post 1991.
‘\1’ - '.:"\’ [al '\ Qg

\ , v \ S St
L‘-\ .\“ > ~

Q-2 Answer the following: (Any Two) 7 ) &Y (1\5)-1‘5"'
a) Explam elhrcal 1ssues in Informatlon Technology & A
b) Define- Corporate GovemanCe Expl:un 1mportanee of Corporate Govemance
& 2 OR - - ‘
c) What is an Audit committee? Discuss the role bf an Audrt committee.
d): Explam the consequences of fanlure of Corporate Govemance

{‘
)

g

) \ <& 0 ,
Q. 3\*;\?Answex: the l‘ollowmg (Any Two) o Q ~(15)
~eoa) E)S?lam in bnef the scope'of Corporate SocraLResponsrbxhty ;\“{' s
L7b) | Explain the concept oﬂCorporate Phllanthropy and its. types QO R
;:, ",’ _\ \. k.\ OR _\,5\ :,5 \\\w q\‘
X < c) Explam in brief QSR prachces in Indian’ corporatwns F: 35
S}\ 4 v “d) Dcsoube the mtegratlon of‘ CSR mto busmess operatlons
g*“” ' Q 4 A) Stﬂe whether the l'ollowmg statéments are True or Fnlse' ! )]
28 o 1) PIaglansm refers, to copying of others pubhshed work :
" el - \n) The ISO 19011 audlt standard apphes‘when auchtmg for both 9000 and 14000
e ,’j}‘f' comphance is requrred at once. ’*.‘ o ,
(‘y‘f"' ,):t iii) CSR isa et:@nomlcal responsrblhty of the company tovDards its various
R "stakeholders R - v .
& nv) The term “green HRM” is concemed w1th HR aetwmes undertaken to achieve
g \,; . _.\\”" envxronmental sustamabxhty ) &
e L) VaIue determme what i is right and\what is wrong while Ethics relaes to doing what
A o 1s right onwrong , -
$ & Ly S S
) - & > B)Till in the blanks wlth appropnate optron' 5)
[:’,V ' )] ~Senes are; prlnclples -based standards to help organisations become
(o »f{’, more accountable re5pon51ble and’ sustainable.
& /.t?/ lllFalr Labour Assocratmn is coneemed with industry.
' ol i /(Automoblle Ganment, FMCG ‘Safety)
: | 4 m) theory holds tlml ends or consequences of an act determine whether
::‘;f?:"’ ;» thc dct is good'or bad, el
,\} ‘ o f (Deontolog]pal Teleologlcal Utilitarian, Justice)
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Paper / Subject Code: 71804 / Business Ethics & 90rporate$<bocml Respons:bll.ty\ ,fg

N
‘ w = ,\i‘o DA 2 £

oW o A el &
iv) is a bundle of rights given by the. Taw to the Creators of't musical L 4 i

and artistic work. (Copyrights, Trade—Mark GIS,H’atem) & oy ¥4 g

V) - model of CSR is of?.be view that free marlcet would"t\ﬁ’ke care: 6 y

CSR. (Ethical, Liberal, Static, Stakeholder)\., Dgf _(3‘ Rk 4 r

: ? I Py % ; 4

C) Match the following: K ¢ ‘

& \ C

Gowdy N & s O )& &
1. Deontological Th“tory o a) Anstotal ¥ ¢
2. Triple Bottomfi.lne Iy b)":Netherlan‘Els\ ; . Q'
3.Virtue Theory {z" A c) Immanue"l Kant "+ ey o ¢ .*-Eb
4. Clean Clo\‘lhes Campalgn ~ AR & D Achv]neg _:’Q\"’ g A
5. Product] Ethics &l e) John Elkmgtoﬂ & =

o ' ~ ik Al 5 -
\ ) .fH o Pk e { o
— - \J = —

r,.. i) n_“ OR \ r:\/: \fj e Q."" w
Q. 4 Write shorhnotes (any\three) .?:? 27 T >(15)
a) Steps in- desxgnmgCSR pohc\y Q‘;‘J & o " E S
b) ISOd4000 2 & 5 Rl o e Y
c) Functlons of IjNDP :f’ ol A g 27 n” Ny
d) ‘GSR and Sustamable‘Development A o < b
e )‘ Ma_]or codes on CSR ““’ R &
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Paper / Subject Code: 71803 / Cost & Management Accounting

(2 Hours). R [Total Marks: 60|

Instructions:

i. All questions are compulsory and subject to internal choice.
ii. Figures to the right indicate full marks.

iii. Make suitable assumptions whenever required and state them.
iv. Use of simple calculator is.allowed.

Q1.
A) TVS Tyres Ltd had budgeted production of 10,000 units. The expenses are as follows:
[15 Marks|
Particulars Cost Per Unit
(Rs.)
Materials cost 70
Wages cost 23
Direct Expenses 5
Variable Overhcads > 20
Fixed Overheads (Rs.1,00,000)" _ 3 10
Administrative Overheads (Rs. 50,000)(100% ﬁxed) _ 5
Selling Overheads (10% Fixed) * 3 : N : 13-
Distribution Overheads (20% Fixed) A ' 7

Prepare a Flexible Budget for the production of 6, 000 units, 8,000 units and 10,000 units
showing Variable Cost, Fixed Cost in Total and Cost Per Unit at each level of production.

OR
QL . ‘
B) | | [15 Marks]

The following information is extracted from various functional budgets prepared for Ajanta
Ltd. You are required to prepare a cash budget for three months ending 30" June, 2022.

Months Sales Materials Wapges Overheads

February 3,00,000 1,88,000 60,000 32,000
March 3,00,000 1,80,000 60,000 36,000
Apnl - 4,00,000 ~1,80,000- 64,000 40,000
May 5,00,000 -| 2,00,000 72,000 44,000
June 3,60,000 2,20,000 80,000 48,000

Cash and Bank balance on 1st April, 2022 is expected to be Rs. 1,60,000

2. Credit terms are Sales/Debtors - 20% sales are on cash, 50% of the credit sales are
collected in next month and the balance in the following month.

3. Credit extended are as follow:

- Creditors - 2 months,

Wages 1/4 month and
Overheads 1/2 month

4, Machinery at a cost of Rs, 10,00,000 will be mstalled in February 2022, The instalment
amount of Rs. 50,000 p.m. are payable from April, 2022 onwards.

5. Annual interest at the rate of 10% p.a. is provided on a Bank Loan of Rs. 12,00,000,
which will be paid on st June, 2022,

6. Advance of Rs. 1,40,000 js to be received from the sale of assets in June, 2022,

—
-
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Paper / Subject Code: 71803 / Cost & Management'Accounting 'y X

k!

Q. ﬂ | < _ &,
A) @ 3 T [5Marks]
Slm;ditrd ' ~“Actual .
Product : = = = ‘ E
SQ| - 'SP v S8C AQ| AP —AC )
X 800 50| 40000  ga0| 45|  37800|c
Y T400| 200 8000 | - 480|w7 25( . 12,000
z 200 15 3000 aso| 1sT 2700 o
* 1400 *| - s1000| LS00 | | 52,500 [
Normal Lo_ss' .50 - ‘ Q T \: Cse | e & & e
Total L350 | TsL,000 - 1,350¢ * 52,500 | .
From the above information calculale the>following variances: 5 =
a. Material Cost Variance - B S g .
b. Material Price Variance = Rt
c. Material Usage Variance o s ,“:ﬁf' L
-d. Material Mix Variance o P A 3 _,:‘.'7“ -
-e. Material Yield Variance S0 3 s
OR ' 2

-.B) Mr Vikram runs Hotel Deluxe which has 20 rooms and eachroom has a'taximum capacity
of 4 beds. 80% of the rooms were fully occupied for the whole year.and 20% of the rooms
were occupied by the customer to-the extent-of 50% af the room capacity. Assume a year
comprises .of 360 days. The following'costs were incurred during the year ended

31-12-2022, | )
. : Particulars ) e 5 Rs.
S = Salaries 1o Staff o Q) It 3,00,000
' ' |'Rates and Taxes N il 2,95,600
-| Electricity 2 X ™ 3,20,000

Depreciation on

Building : _ 1,80,000
Furniture 30,000
Equipment : 40,000
‘| Sundry Expenses 76,000

A room attendant is paid-@ Rs. 36 per day per room when occupied.
Food cost Rs.30 per customer per day,

Ascertain the amount to be charged pqr.'éustomer per day to cover both, accommodation and
f‘ood costs, plus profit @ 10% return-on capital employed which is Rs. 31,36,000.

[15 Marks]

s
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Paper / Subject Code: 71803 / Cost & Manngement Accounting

>
Q3. )
A) Following is the cost structure of an engineering product manufactured by NICO Ltd.
Partlcular Amount Rs. (Per Unit):
Material . ' 2,000
Labour o 500
Variable Overheads 5 Oy =500
Fixed Overheads - - 1000
Total Cost - . - 4,000
Profit 1,000
Sales Price 5,000

The above cost structure is based on 50,000-units p.a. The company propose to reduce the
selling price per unit but want to kecp the total profit intact.

You are required to prepare profitability statement showing the position, if selling price is
reduced by 15% und selling price is reduced by 20% [15 Marks)

OR

Q3. - e :
B) The-Asian Industries specialize in the manufacture of small capacity motors, The Cost -~
Structure of a motor is as-under: -
Material-Rs, 50
Labour Rs. 80
Variable overheads 75% of labour cost.
Fixed overheads of the company amount to Rs. 2.4 lakhs per annum,
The sale price of the motor is Rs. 230 each
() Determine the number of motors that have to be manufactured and sold in a year
in order to achieve break-even ' '
(i)  How many motors will have to be made and sold to make a profit of Rupees

One Lakh per year?
(iii)  If the sale price is reduced by Rs. |5 each, how many motors will have to be
1 sold to achieve break-even? : |15 Marks]
Q4. : : L
= ' A) Multiple Choice Questions: |8 Marks)
' I, The cntire budget of the organization is controlled and headed by the senior exccutive
known-as

§ a. General Manager -
~b. Accountant
' - ¢ Exgcutive Manager
" d. Budget Controller
-2. Budget-period depends on
a. Technical Policy
b. Government policy
¢. Social policy
d, Management-policy

- 21401 ; Page 3 of §
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Paper / Subject Code: 71803 / Cost & quugcmcnt*ﬁccounﬂnn

3. Standord cost is a

a. pre-determined cost ' s

b. profit variable o
c¢. Fixed cost ~ = :

d. Variable cost

4. Sales Value Varisnce Is said- to bc I'nvournble when - - —

6.1f the profit is 50% of the operating cost, itis .......:o1...... ofll1c invoic&i%ﬁca ‘~

a actual sales are less.than budgeted sales - s
b. actual sales are more than budgeted salcs = ! -
¢. When actual sales are equal lo budgered sales N | ]
d. Actual price is more than budgeted-price o~ RS 3 & -
organisations should not be advised to use service cosung N :
a. Distribution service' - L
b. Hospital 3 S '.':'7" <7 - X
c. The maintenance division. ofa munulac.tunng company = b >
d. A light engineering company . Q oy N

a 20% ' . o
b. 25% -

T 16.66667%

d. 33.33334% | '-

7. BEP is the point at which there is profit and. | loss.

a, Minimum, maximum &
b' NO. NO B : ’ R _. ; ‘\\_

c. Maximum, minimum . L
d. Fixed, Variable : - ka

8. Make or buy decision arise when a company with unused produélion cagafity considers

a. to use available capacity to-produce the: iterns wnthln the company
b. to import goods from foreign market N X
c. to use the existing production facility A ]
d. to avoid taxes on purchase of goods i~
Q4.
- B) Trucor False: ~ y ' (7 Marks]|
1. Total budgeted fixed costs appcanng ona ﬂe'ublc budget will be the same amount
as total fixed costs on the-master budget. ;
2. The use of budgets in controlling operations:is known as budgetary control.
3. OQOverhead Variance js nothing but variation in the absorption or recovery of
overheads. "
4. Revised Standard Quantity for each input is required to be computed for calculating
Material Price Variance.
5. Details of the journcy is shown by the daily log sheet.
6, Taxes is a fixed cost in the operating cost statement.
_-7. The profit calculated under.absorption costing and marginal costing is always
equal.
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Paper / Subject Code: 71803 / Cost & Management Accounting

. R4
OR
Q4.
C) Write short notes: (Any Three)
a. Angle of incidence -
b. Standard Cosling v/s Budgemry Coutrol -
c. Overhead Variances <~ Q -
d. Sales Budget o°
c. Opcroting Costing,. ofTrnnsport Serv:ces
N N
© 21401 Page 5 of 5
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M-@re Sem I fob- 29 22f02/20%2

Paper / Subject Code: 71802 / Economics for Business Decision

Time : 2 Hours i N s Total Marks: 60
Please check whether you have got right question paper

- N.B. 1. All questions are compulsory. -
2. Figures to the right indicate full marks
3. Draw neat diagrams wherever necessary

. (a) Explain the theory of attributers in detail. (8)
(b) Discuss the consumer's-equilibrium with the help of mdlf‘ference curve and price line,
‘ (7)
OR
(c) What is snob effect? Discuss how it is different from bandwagon effect. (8)
(d) Explain the paradox of bumper harvest (7)
2. (a) Explain the law of variable propomons with suitable diagram. (8)
(b) Bring out the relatlonshlp between AFC, AVC ATC and MC with the help of diagram.
)
OR
(c) Explain production function with two variable: mputs and show economic region of
production with the help of ridge lines. - : , ®
(d). Discuss djffcrcnt kinds of mtcmal economies in deta11 / s )

3. (a) What s markct structure? Idenhfy the major dxfferences between perfect

competition and imperfect competition. 8)
(b) What is monopolistic competition? Explain its: broad fe'ltures )]
OR
(c) Discuss in detail different sources of Monopoly power (8)
{d) Explain with a suitable diagram how a dommant firm will decide the price and output
under colluswe ol:gopoly . _ )
--4. (a) Choose the right option from the following- 7

i. -Opportunity cost of resources already owned by the firm and used in business is called

a) Implicit cost.
b) 'Explicit cost.
¢) Historical cost
-d) Social cost.

ii.  Market failure takes place due to
a) Perfect information..
b) Private goods
¢) Public goods.

- d) Perfect competition,

3 20992’ 3 Page 1 of 4
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Paper / Subject Code: 71802 / Economics for Busincss Deciqiojh

iii.  Total revenue minus total costs is’
a) Economic profit ’
b) Accounting profit,
c¢) Negative profit.
d) Unexpected proﬁt.
\ . &) )
iv.  When there are negahve extcrn'nhtleq, the pnce should be adjusted $0 that
is : i - :
a) Social cost. : ' . > ' -
b) Private cost.
¢) Historical cost . ! =S -
d) Moneycost - =~ . e o~ ‘

v.  The production possibility curve is__ ~
a) Convex.
b) Concave. , .
c) Circle. _ - -
d) Stralghthne _,.‘7 :
vi.  Economic 1nefﬁc1ency can be corrccted by reducmg &
‘ a) Productlon i
b) Employment .- " ks e
c) Wastages ~ y
d) Competition .

vii. A personal car is an example of -~ - Fs
a)“ Public gOOd ey --»..:\ “ _{‘\\‘7
b) Meritgood <% ey £ & Q
c¢) Demerit good~ o : <
d) Private good"

<(b) Give precise meaning of-the following. .. Sl ®
a) Business Economics ' ~
b) Market economy '
¢) Marginal principle
d) Invisible hand >
OR

4, Write short note on any three of the following. 15)
a) Market failure
b) Determinants of demand.
c) Applicationsof elastlclty of demand
d) Learning curve, ‘
e) Basic concepts of game theory

XXXXXX

20992 3  ~Page2of4

0A664C21DEBS5753B1IB9A546A9C22D039
Sudileu widi udinSca



M-t Sem-2 Feb-2B23 , 20/024 3023,
Paper / Subject Code: 71801 / Stratégic Management - :
Duration: 2 hours . _\ 2 ' Mdrlrs: 60
Note: 1) All questions arc compulsory and carncs 15 marks ‘tach. 4y “
2) Figures to the right indicate full mnrks |

QL. a) Define strategic management 'md discuss 1(5 bcncﬁts? o s b

b) Explain briefly the business. lcvcl stralcglcs of an. orgamsatlon

OR -
¢) Explain the various human resource strategies of a ﬁmptional straﬁ:'gies of ,hﬁ%iness.

~

d) With the help of examples, gxphjn the macro en\{iromcntal‘foctors of business. .

- N

Q2. a) What is joint venture? Explainr_the types and advanwgés of joioﬁ&:nhrre._ = > 18
b) Write a note on‘S_‘W"OT analygis. _ |
\ \ ; - | OR;~' R _~
¢) Describe the steps io\roived in strategic impigmentation‘“I‘)rocess,‘l‘:‘:” | QA

d) Elucidate the advantages of budgetary control. \
Q3.a) Elaborate on the internal and external causes of corporate renewal % : 15

‘b) What is strateglc aillance” Explam the problems of strategnc alllances A -
OR |

~.:

c) Explzun the govemmg strategies of PPP modcl in India.

d) Explam the hmltatmns of Informatloo Technology in busmess ’

Q4. A) Select the appropriate option and fill in the blanks:

1. - The term ‘Strategy’ is taken from the word ‘Strategos’.

a) Grcck b) Latin  c) French  d) Japanese
2; - is a strategy to covert loss-making unit into profitable again.

a) Turnaround b) Diversification ¢) Liquidation d) Growth

3. In BCG matrix, the feature of. low industry growth and low market share.
a) Stars b) Cash-cows c) Question marks d) Dogs

4, is a physical effect of disaster.
a) Trauma b) loss of employment  c) Social evils  d) Death

5. The Government of India launched the Start-up India Movement on 16 January,

at New Delhi.
a) 2000 b)2016° c¢) 2020 d)2022
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Paper / Subject Code: 71801 / Strategic Mml_n‘gémcnt & ’

B) State whether the following statements are True or False: S « .5 mrks
1. The analysis of external environment helps to ldgntify the strength and ‘weakness of an

Y o\ \
organisation. O ~h s e

P Ol S‘-' . e .
2. Diversification is a combination of two or more compariies into ori¢ company. _
3. Strategic evaluation and control are the first phase of strategic management process. .
4. Information Technology is uscful in every phase g;f}i;trategic,r'rfianagcm‘gpt. )
5. The Government of India has set up the Nationai;‘Disaster Managcmg_nt‘Authonty-wﬂh
Prime Minister of India as'a Chairperson. 2 ¥ :
C) Match the Following: B \- ' Joie 4 _3\'_‘: 7 5 marks
:"u n“. g \:. - )
Group A Group B
1. Product modification a. Winding up of business
2. Liquidation Strategy |- b. Market Leaders )
3. ETOP \ q:f;“Marketi_ug‘Strateg)(;:l“
4. Stars - o .~d. Re-organising of business <
5:" Corporate Restructuring | A E‘nyifonmeqt'ql Analysis-~
BA ~ $x K
= . OR ~ 5
Q4 Writhhort Note on: (any 3) ) , e ’ T 15 marks
\ L. _-Réasons for growing BPO in India > ] -
ool 2. Business Process Reen gineering ) = k
3. Consequences of Disaster . @ <
_~- 4. Start-ups and its challenges T eyt A
o 5. Make in India Model e N & D
) ‘n,"‘ 1}," - , \—\ - -
5§ 3 —
N : R
o { 5. 3 >
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